
Explorations in STEM, Vol. 3 Session 2 Part 2: Binary Key Chains

Binary Code

My Initials in Binary

Letter Binary Code
 A  01000001 
 B  01000010 
 C  01000011 
 D  01000100 
 E  01000101 
 F  01000110 
 G  01000111 
 H  01001000 
 I  01001001 
 J  01001010 
 K  01001011 
 L  01001100 
 M  01001101 

Letter Binary Code
 N  01001110 
 O  01001111 
 P  01010000 
 Q  01010001 
 R  01010010 
 S  01010011 
 T  01010100 
 U  01010101 
 V  01010110 
 W  01010111 
 X  01011000 
 Y  01011001 
 Z  01011010 

Letter      Binary Code

____   =   ___ ___ ___ ___ ___ ___ ___ ___

Beads:

Letter      Binary Code

____   =   ___ ___ ___ ___ ___ ___ ___ ___

Beads:

Which bead color will you use for 0? green or blue (circle one of the colors)
Which bead color will you use for 1? green or blue (circle the other color)


